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Vol =
FER N E
TH4 | A6 TS BEAESMiiE TH
TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
BT HE =X 1 43, 398, 571
ire p =/ = 1 13, 889, 026
HE AT L 2 1 8,905, 400 | F&EL F (S5 E 1k K%tk 48. 6 m
V7Vyyay” afyh L% (REJ i)
& G2 F A S5 LE K SR B 1 X
J7Vyyay afvh T35 (REJ )
TRk T T 3 1 4,804, 000 | fifffELE 1k K ERAHIE 1 i
M EBUR T3 L=114m t=20—-60mm ;
BEAKMER% T = 1 3,086 |HEAKE T —L 0.2 m
Mg T = 1 176, 540 | HZE R K /LB 3 m
(F&H0)
t=40mm ;
HhZE R 7K AL ER 7 m
(KEREIER)
t=30mm ;
Al 2 1 1, 565, 189
OOEINAHE T = 1 249,320 |{REEALE 1 )
(4B
25mAYH T ¥VAETAEIFE |
FTATIE 1 &Y
(AEFE)
20mAT
Wrim f&1E T 2 1 266,099 |£H Lik 1 Sy
0. Im3ATH SRAR 7 Lo - BRMABGSELELA ;
NFEA 0.05 m3
/) - ;
e 0.05 m3
/)= (AT
By 0.05 m3
20—~k AT
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s foAs =
FEAENGRE
TH4 | o6 FELBEMGIMEE LE
TEHX4y « Tfd - FER B Az W B & #A i il A R
s T = 1 257,910 | TR 1 i
7" A A 1 i
IRF VBT T A ~— CC-B;
T8y (v TEAR) 1 &
TARFUEIAENT
HRER D M A 1 &
FHI =R U BIR RN
Y M 1 &
FHE S>> FEBE L8
WA IR bR E T = 1 769,370 | =7 U — b FEALPE 6 m2
ASE T Y 1 12,280 | 7/h—K" v HEHE 1 AT
M27 ;
B s T 2 1 10,210 |HRUAFAR/L B RRE 1 (51300
M20 ;
R [ 6D T Y 1 1, 752, 633
TR ET Y 1 24,240 | HRORZE 3 m2
i = 1 1,728,393 |FEER 70 £
2t (RHIERERY) i ST BB ;
av)) - M &Y BUE L 87 m3
EAEAETEY) FEMOE T ;
BGBRIET F 1 7,993, 358
TG BEE T = 1 5,327,184 |FE iRk 130 m2
2FyVvy (B T REEFTHOHH) ;
T A 130 m2
EARTH COARTR &% Rij/LEEFA ;
T®& (1EH) 140 m2
EARTH COARTEHSHEREE |
T®& (2)EH) 140 m2
EARTH COARTEHSHEREE |
Ak 140 m2
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fiZs PR 450~600mm ;

TH4 | A6 TS BEAESMiiE TH
TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! EN
AR 5o REIEEBELH X -0 K B
LEEH 1]
R 140 m2
ARG 5o FIREEL 130 -0 R Bk
[F¥ 10\
YRR E MR ALy 0.2 t
FE— | 130 m2
Wk T & 1 2,666, 174 | WRIHCRYBERR 5 M 1 A
AR E 1 =«
TR GRSt R B P i g 1 2
I = 1 18, 198, 365
RS (4 ES) E2y 1 1,919,817 |23 1 =«
HiEnl. smbd b g
BT (hER) =X 1 549,920 | &3 1 =
M L. SR ;
THEHER T = 1 10, 694, 861 | FdkiK 1 =
22X 1219 X 2438 (mm) FXE ;
kR 1 X
22X1219X 2438 (mm) #ZE ;
o5 1 2V
(BE - X&)
AT FREEEPE 6Pl T
o5 1 2V
(%)
PEEREA 6mBL T
T H S 1 E2
+wp CEHR - ERIRY LET) ;
e 1 2V
HEHLO-20)
I IR 1 E2
AT BRE 450~600mm ;
I IR 1 X
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T=E4

A6 A EASMEE T

TEHX4y « Tfd - FER B Az £ & #A i il R
e ALEE T = 37,137 | Bl A ShiE i 1 =
EBER VIV ¢ 500 ;
VE#IE 1k T = 184,950 | 5B 1E7 2% 1 =
BRIE -

A ERE E T = 1,344,580 | AC @A E 0w B 1 =

A ERE E T = 3,467, 100 | A3 EAEE (K B 1 =
[ERAE Xy = 43,398, 571
HiE 2 = 12, 249, 576
BISTIGE: = 3, 795, 576

TERE = 861,952 | {Ra%HTiEMRE 1 =

ey 2 2,371,824 | EnEERpIl AR B2 1 X

HeffrE sy = 60, 800 |JEMEHERYFAT ~IERE F 1 =

A [EE R SRT —IN AR G 1 F2V
BGRESGESE (5 L) = 501, 000
B (FEHL) = 8, 454, 000
T = 55, 648, 147
Bl gy = 30, 716, 000
T =5l = 96, 889, 896
— R A = 16, 080, 104
TS = 112, 970, 000
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Vol =
FER N E
TH4 | A6 TS BEAESMiiE TH
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
BT HE =X 1 4,065, 396
EEEET = 1 1,148,521
Fa T Rh 7K T = 1 101, 320 |G HEBS K 34 m2
WL K
LT = 1 1,047,201 |y /@404 39 m2
1597 Ay JE1. 5-4. Ocm ;
ERZE R LD 1 X
TAT 7 MEREERR EHEEIE 40mm
EhAE AR AR 9 m2
TAT7VMEHZERR SHZERRIE 3. 7Tcm
EhAE AR AR 25 m2
TAT7VMEHZERR AH2ERRIE 2.5 cm
EhAE AR AR 5 m2
TAT7VMERZE IR BHEERE 4 cm
YNVAL= 7N 1 X
TAT7VMER
IR 1 m3
TAT 7V
By 1 m3
TAT 7V
e p =/ = 1 87, 621
HE AT L 2 1 73,630 |fEH B HERE 1 =
B )v=tAvbevi
BEAKMER% T = 1 13,991 | B AL 1 =
Ok & <4 TERiE)
R Y L = L% VP20 ;
FEgeAiE 2 1 1, 200, 750
OOEINAHE T = 1 345,100 [{RFEFEALE 1 )
IHEIEM Y D HHEIC~IE R 40. 5m ;
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T=E4

A6 A EASMEE T

TEHX4y « Tfd - FER B Az £ & #A i il R
e R R 25 T A 492,400 | =27 Y — hFRELH 4 m2
& SR & T = 363, 250 | ¥y —H AR 0. 02 m3
e VAN 7
R 5 R LR 1 =
e VAN 7
A Y 1, 628, 504
25T =Y 252,754 | &4 1 =
HiE 1. bmATEs
B EHT = 1,375,750 | Q@A E E ) B 1 =
[ERAE Xy = 4, 065, 396
HiE 2 = 1, 686, 353
BISTIGE: = 85, 353
HeffrE sy = 10, 353 | SkAHIRE 1 2V
BGRESGESE (5 L) = 75, 000
B (FEHL) = 1,601, 000
T = 5,751, 749
Bl gy = 4,774, 000
T =5l = 10, 525, 749
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